

Republic of the Philippines VISAYAS STATE UNIVERSITY

Visca, Baybay City, Leyte

PURCHASE REQUEST

PR No.: STF-2022-08-01115

Date: 08-18-2022

Dept./Office: DVCS

Category: Medical & Dental Supplies &

Section/End-User: Shebelle A. Cueva Equipment

Funding Source: Special Trust Fund

Project Title/Code: CVM-VTH / 40201990-99 Clinic-CVM

item #	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
1	0.9% Sodium Chloride,1 L	Box of 12's	1	1,800.00		1,800.00

Specification:

0.9% Sodium Chloride (SOLUTION FOR IV INFUSION)

Formulation:

each 100 ml contains:

Sodium chloride USP--- 900 mg

Indication:

for replacement or maintenance of fluid and electrolytes

Osmolarity: 308 mOsm/L

Isotonic

pH 4.5 to 7.0

			The second secon	
2 4in1 Cat Vaccine	Vial	25	600.00	15,000.00

Specification:

4in1 Cat Vaccine

Preferred Brand: Felocell 4

Company: Zoetis

(Justification: This brand has been proven to cause lesser vaccination failure and allergic reactions in cats as compared to other brands of cat vaccines.)

This vaccine contains attenuated strains of feline herpesvirus type 1, calicivirus, panleukopenia virus (Johnson Snow Leopard strain), and Chlamydophila felis propagated on established cell lines, and lyophilized to preserve stability.

Indications:

This vaccine is intended for the vaccination of healthy cats and kittens as an aid in preventing feline viral rhinotracheitis
(FVR) caused by feline herpesvirus-1, feline respiratory disease caused by feline calicivirus (FCV), feline panleukopenia
(FPL) caused by feline panleukopenia virus and feline chlamydiosis caused by Chlamydophila felis.

Dosage and Directions For Use:

Use only as directed. Aseptically rehydrate the freeze-dried vaccine with the sterile diluent provided.

General Directions:

Vaccination of healthy cats is recommended. Shake well. Aseptically administer 1 ml subcutaneously or intramuscularly.

Primary vaccination:

Healthy cats 12 weeks of age or older should receive 2 doses, each administered 3 - 4 weeks apart.
 Cats vaccinated at less than 12 weeks of age should be revaccinated at 12 weeks of age.
 Revaccination: Annual revaccination with a single dose is recommended.

Storage:

Store between 2 °C and 7 °C. Do not freeze.

Pack Sizes:

25 x 1 dose vials with 25 vials packed in a clear, plastic, flip top container with a package insert and lot number stickers included.

3	Activated charcoal for ER and Ambulance	Sachet	3	46.00	138.00
4	Aluminum magnesium hydroxide/tab	box of 50's	1	500.00	500.00
5	Co-Amoxiclav 250 mg/62.5 mg per 5 mL (suspension)	btl	10	390.00	3,900.00

Specification:

Co-amoxiclav 250 mg/62.5 mg per 5 mL

- · Powder for Suspension
- Antibacterial
- 60 mL/bottle

Formulation:

each 5 mL contains:

Amoxicillin (as trihydrate), USP --- 250 mg

Clavulanic Acid (as Clavulanate Potassium) - 62.5 mg

Indications:

Treatment of the following infections caused by susceptible pathogens: lower respiratory tract infections, acute otitis media, sinusitis, urinary tract infections, skin, and soft tissue infections

6	Co-amoxiclav 625mg/tab	box of 50's	1	2,000.00	2,000.00
7	Cotton Applicator, Sterile pack of 100	packs	1	145.00	145.00
8	D5LR, 1L	Box of 12's	1	1,560.00	1,560.00
9	DHLPPi (Recombitek C6) Dog Vaccine	Vial	100	220.00	22,000.00

Specification:

(DHLPPi/ 5in1 dog vaccine)

Canine Distemper-Adenovirus Type 2-Parainfluenza-Parvovirus Vaccine

Modified Live Virus, Live Canarypox Vector, Leptospira Canicola-Icterohaemorrhagiae Bacterin

Vaccine Brand: Recombitek C6

company: Merial

(Justification: This brand is proven to cause lesser vaccination failures and allergic reactions in dogs compared to other brands of 5in1 vaccine)

DESCRIPTION: RECOMBITEK® C6 contains a lyophilized suspension of a recombinant canarypox vector expressing the HA and F glycoproteins of canine distemper virus; modified live adenovirus type 2, parainfluenza virus, and parvovirus; and a liquid suspension of inactivated cultures of *L. canicola* and *L. icterohaemorrhagiae*. Safety and immunogenicity of this product have been demonstrated by vaccination and challenge tests in susceptible dogs.

INDICATIONS: RECOMBITEK® C6 is recommended for the vaccination of healthy dogs 6 weeks of age and older for prevention of disease due to canine distemper virus, canine parvovirus, canine adenovirus type 1 (canine hepatitis), canine adenovirus type 2 (canine respiratory disease complex), canine parainfluenza virus, and the bacteria *L. canicola* and *L. icterohaemorrhagiae*.

DOSAGE: Reconstitute the lyophilized vaccine with accompanying liquid diluent and aseptically inject 1 mL (1 dose) subcutaneously or intramuscularly into healthy dogs. For primary vaccination, revaccinate with a second 1 mL dose 2 to 3 weeks later. Dogs younger than 12 weeks of age should be revaccinated with a single 1 mL dose every 2 to 3 weeks, the last dose given at or over 12 weeks of age. Revaccinate annually with a single 1 mL dose.

PRECAUTIONS: Store at 2-7°C (35-45°F). Do not freeze, Use immediately after reconstitution. Do not use chemicals to sterilize syringes and needles. Burn container and all unused contents. Contains gentamicin as a preservative. It is generally recommended to avoid vaccination of pregnant dogs. In rare instances, administration of vaccines may cause lethargy, fever, and inflammatory or hypersensitivity types of reactions. Transient lethargy, as well as pain and swelling at the site of injection, may occur following use of this product. Treatment may include antihistamines, anti-inflammatories, and/or epinephrine, as directed by a veterinarian.

SOLDI	OVE	TEDIN	ADIAN	100	NII V
SOLD	UVE	LEKIN	ARIAN	12 C	NLT.

10	Diazepam 5mg/ml/2ml ampule	Ampule	5	156.00	780.00
11	Disposable needle G23	box of 50's	1	300.00	300.00
12	Disposable syringe with needle, 5cc G-23	Box of 100's	1	640.00	640.00
13	Disposable syringewith needle, 3cc G-23	Box of 100's	3	650.00	1,950.00
14	Dog Muzzle Plastic Basket Design Size 6	pcs	2	200.00	400.00

Item Type: Pet Muzzle

Material: Plastic

Color: flesh/black

Pattern: Solid

Size:

front width: 5.5 cm

front height: 8.5 cm

lower minister: 14 cm

rear height: 13.5 cm

15	doxycycline 100 mg/tab	Box of 100's	1	1,000.00	1,000.00
----	------------------------	--------------------	---	----------	----------

Specification:

Doxycycline HCl 100 mg/tablet

Antibacterial

For veterinary use only

Formulation:

each tablet contains:

doxycycline hydrochloride -- 100 mg

Indications:

For the treatment of respiratory, intestinal, and urogenital tract infections and tick-borne infections like ehrlichiosis in dogs and cats

Dose				de-
Doxycycline Hyclate (20 mg/mL) Oral suspension	btl	10	270.00	2,700.00

Doxycyline hyclate 20 mg/mL Oral Suspension

60 ml/bottle

antibacterial

Formulation:

Each mL contains 20 mg of Doxycycline

Use:

is usually the drug of choice for treating tick-borne diseases in animals. Efficacy has been demonstrated in some clinical studies.

It is used for treating infections caused by bacteria, some protozoa, rickettsia, and Ehrlichia

Doxycycline is an antibiotic that can be used to treat bacterial infections in dogs. It is a broad-spectrum antibiotic, which means it can fight multiple types of bacteria.

To be dispensed only by a licensed veterinarian

17 Ehrlichia + Anaplasma Ab Combo test	Box of 10's	1	5,000.00	5,000.00
--	----------------	---	----------	----------

Specification:

Product: Canine Ehrlichia/ Anaplasma Combo test veterinary test strips

Specimen: Dog's serum, plasma, and whole blood specimen

Assay Time: 5-10 minutes

Storage temp: 2-30C, DO NOT FREEZE. Do not store the test kit in direct sunlight.

Principle:

Canine EHR-ANA ab Combo rapid Test Kit is based on the sandwich method of lateral flow immunodissection. The test card has a test window to observe the analysis run and read the result. Before you run the analysis, the test window has an invisible T (test) area and a C (control) area. When the processed sample is applied to each sample hole on the unit, the liquid flows horizontally across the surface of the test strip and reacts with the pre-packaged Eric body and the non-plasma weight group antigen respectively. If there are Eric and no serum antibodies in the specimen,, a visible t-line appears. Line C should always appear after

the application example, which indicates that the result is valid.

Interpretation of the result:

Positive (+) - the presence of both "C" and "T" line, no matter T line is clear or vague.

Negative (-): Only clear C line appear. no T line

Invalid: No colored line appears in the C zone. No matter if T line appears.

Enrofloxacin 50 mg/mL syrup btl	10	520.00	5,200.00
---------------------------------	----	--------	----------

Specification:

Enrofloxacin 50 mg/mL

100 ml/bottle

FORMULATION:

Each ml contains: Enrofloxacin 50mg

INDICATIONS:

For the treatment and prevention of infections associated with Escherichia coli, Klebsiella pneumoniae, Proteus mirabilis, and Staphylococcus intermedius, Escherichia coli and Staphylococcus aureus. Used also for prevention or treatment against Canine babesiosis.

Dosage:

2.5mg/kg 2x a day or 5 mg/kg once a day) Adults: 0.1ml per kg (once a day or in 2 divided doses) 3 to 6 weeks (for babesiosis or ehrlichiosis)

CONTRAINDICATIONS:

CNS and liver disorders, cartilage erosions in weight-bearing joints, and other forms of anthropathy in immature animals of various species.

1.94	Febantel + Pyrantel liquid dewormer 50 mL/bot	btl	5	400.00		2,000.00
------	---	-----	---	--------	--	----------

Specification:

Febantel (15 mg/ml) + Pyrantel (15 mg/ml) oral liquid suspension

50 mL puppy dewormer

Formulation:

Febantel 15mg/ml and Pyrantel 5 mg/ml

Indication(s):

For the treatment of roundworm infections in puppies and young dogs up to one year of age caused by:

Ascarids: Toxocara canis, Toxascaris leonina

Hookworms: Ancylostoma caninum, Uncinaria stenocephala

Whipworm: Trichuris vulpis

Not recommended for pregnant dogs.

Dosage:

For oral administration only.

1ml suspension/kg body weight can be given directly to the animal or mixed in with their normal feed. No special dietary measures are necessary.

It is recommended that treatment should be started at 2 weeks old and then should be given every 2 weeks until your pet reaches 12 weeks of age or until weaning.

1.950.00

1.950.00

Storage conditions:

20 Firocoxib 57 mg/tab NSAID

After opening, do not store above 25°C

Shelf-life after first opening the container: 12 weeks

Keep out of reach and sight of children. For animal treatment only.

btl

	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		1,000.00	1,6
Specification:			***************************************	
ontent	Firocoxib 57 mg/tab			
PVET				
Classific ation	Non-Steroidal Anti-inflamm	atory Drugs (NSAIDs	s)	
Drug Class	Rx (please see your vetering	narian for proper sup	ervision)	
Indicatio n	Pain and inflammation asso soft tissue surgery, orthope			inflammation associated with
Dosage	Osteoarthritis: 5 mg/kg BW needed, starting approx 2 h			once daily for up to 3 days as ibed.
Contrain	Pregnant or lactating bitche	es; rabbits. Animals <	<10 wks old or <3 kg BW. A	nimals suffering from GI

dications bleeding, blood dyscrasias or hemorrhagic disorders. Dehydrated, hypovolemic or hypotensive animals.

Precauti ons Cardiac, renal or hepatic impairment. Animals at risk of GI bleeding, or intolerance to NSAIDs.

Discontinue use if these signs are observed: repeated diarrhea, vomiting, fecal occult blood, sudden

weight loss, anorexia or lethargy, degradation of renal or hepatic biochemistry parameters.

Drug Interacti

Glucocorticoids, corticosteroids or other NSAIDs. Nephrotoxic drugs. Substances with high degree of

protein binding.

Side

Emesis, diarrhea.

effects

21	gloves surgical, sterile, powder free 6.5	box of 50 pairs	1	900.00	900.00
22	gloves surgical, sterile, powder free 7.5	box of 50 pairs	1	900.00	900.00
23	Hot water bag	piece	2	100.00	200.00
24	IV cannula G22	box of 50's	1	3,750.00	3,750.00
25	IV infusion set (microset)	piece	10	75.00	750.00
26	Lactated Ringers Solution 1L	Box of 12's	1	1,800.00	1,800.00

Specification:

Lactated Ringer's Solution 1000 mL

Solution for IV infusion

Formulation:

Each 100 mL contains:

Sodium Chloride, USP --- 600 mg

Sodium Lactate Solution, USP --- 310 mg

Potassium Chloride, USP --- 30 mg

Calcium Chloride (as Dihydrate), USP - 20 mg

Indication:

for fluid and electrolyte replacement

Osmolarity:

273 mOsmol/L

pH of the solution: 6.0-7.5

				The second secon
27 LC-SCOUR suspension	btl	10	200.00	2,000.00

LC-Scour Suspension 60 ml/bottle

Suspension

Anti-diarrheal/ Anti-infective

(for veterinary use only)

Formulation:

each 60 mL contains:

Sulfadimidine - 639 mg

Sulfaguanidine- 639 mg

sulfadiazine- 852 mg

streptomycin sulfate - 54 mg

neomycin sulfate - 54 mg

hyoscine hydrobromide - 1.2 mg

sodium chloride- 340 mg

calcium gluconate- 66 mg

magnesium sulfate- 18 mg

potassium chloride- 109 mg

kaolin-3.1 g

pectin- 213 mg

glycine- 627 mg

INDICATIONS:

For the treatment of bacterial diarrhea, restoring electrolyte loss, reducing intestinal motility and elimination of bacterial toxins in dogs, cats, guinea pigs and rabbits.

28	lidocaine, topical spray, 10%, 50ml	btls	1	2,500.00	2,500.00
111-	Metoclopramide 5mg/ml/60ml Syrup	btl	10	65.00	650.00

30	metronidazole 500 mg/tab	tablet	30	30.00	6.4	900.00
	Specification:					
	Metronidazole 500 mg/tablet					
	Indication: antiprotozoal/ amoebicid	e				
31	Miconazole + chlorhexidine	btl	10	400.00		4,000.00

shampoo 150ml/bot

miconazole nitrate + chlorhexidine gluconate medicated shampoo

(150 mL/bottle)

COMPOSITION:

Miconazole Nitrate - 20 mg/ml

Chlorhexidine Gluconate - 20 mg/ml

INDICATION:

Anti-Fungal & Antibacterial

is a potent dermatological shampoo specifically formulated to treat and prevent skin infections due to fungi, yeasts and bacteria.

- safely indicated for use in dogs and horses. Helps washes away fungi and bacteria and treats fungal infections such as ringworm and superficial skin infections caused by yeasts and bacteria.

4.1	Microscope Glass Slide Frosted End	box of 50's	3	110.00	330.00
33	Multivitamins Syrup 120 mL (Small Animal)	btl	15	150.00	2,250.00

Specification:

Multivitamins Syrup 120 mL

INDICATIONS:

Improves appetite and general health. Prevents and treats vitamin deficiencies during stress conditions in dogs, cats, rabbits, hamsters and chinchilla.

FORMULATION:

each 5ml contains:

Retinol Palmitate (vit. A) - 1,301 IU

Cholecalciferol (vit. D3) - 100 IU

Thiamine HCI (vit. B1) - 2.50 mg

Riboflavin PO4 (vit. B2) - 1.20 mg

Nicotinamide (vit. B3) - 10 mg

Pyridoxine HCI (vit. B6) - 1.20 mg

Cyanocobalamin (vit. B12) - 1 mcg

Ascorbic Acid (vit. C) - 75 mg

Lysine HCI - 12.50 mg

DOSAGE & ADMINISTRATION:

Dogs & Cats: 1 ml per 5kg bodyweight

Rabbits, Hamsters & Chinchilla: 15 drops mixed in the drinking water.

270.00	1,350.00
	270.00

Specification:

NGT TUBE A nasogastric (NG) tube is a long silicone tube that is passed through the nasal passages via the esophagus into the stomach. Are commonly inserted in surgical practice for various reasons.

Product functions and features

Made of medical-grade silicone.

Radio opaque line through the length for x-ray visualization.

Soft, Comfortable

Sterile

Sizes: FR 10

35	Oral rehydration solution 20.5g sachet	Box of 25's	1	300.00	300.00
36	Surgical tape, 1 inx10yd, 2,5cmx9,1m	Box of 12's	1	1,200.00	1,200.00
37	Tuberculin syringe	box of 50's	3	900.00	2,700.00
38	U11 Urine Strips	btl	.1	1,800.00	1,800.00
39	Zoletil	btl	2	1,320.00	2,640.00
	TOTAL				99,883.00

Purpose: Supplies for CVM-VTH

Checked by:

PHOEBE LYNN B. CALUNGSOD

Funds Available:

TWG - Medical & Dental Supplies & Equipment

HEAD, BUDGET OFFICE M

Signature:
Printed Name:
Designation:

Requested by:
Noted by:

Noted by:

HARVIE P. PORTUGALIZA

Designation:

Noted by:

PRESIDENT, VSU